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% Ug/m’ 3 0.54 0.52
rJZOOTFLY Ue/m’ 130 0.015 0.009
FrSoOOTIFLY Ue/m’ 200 0.026 0.023
soaoniay Ug/md 150 0.87 0.49
F7oUR=r)L teg/m’ (2) 0.009 0.014
Bl EEZILE/T— Ug/m’ (10) 0.012 0.020
BIEAFIL teg/m’ (94) 1.2 1.2
Zi=1=V, JIWN ug/md (18) 0.13 0.12
1, 2—ooAAIRY ug/m? (1.6) 0.12 0.12
MLTY ue/m’ — 34 1.3
1, 3—7J40Ty ug/m? (2.5) 0.020 0.028
Ry (a)ELy ng/m® — 0.087 0.12
FEc7ILTER ug/m? (120) 16 1.3
RILLTILTER ug/md — 2.6 2.4
ieTFL> te/md - 0.087 0.073
=9 L EY ng/m° (25) 6.9 1.2
ERRUVZDIEEY ng/m® (6) 1.4 1.4
RYY Y LRUVZDILEY ng/m’ — 0.049 0.017
RUAVRUZDIEEY ng/m® (140) 48 20
JALRUZEDILEY ng/m® - 17 20
KEBRVUZDILEY ng/m® (40) 1.8 1.7
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